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*** DO NOT PUT YOUR SOLUTIONS IN THIS FILE ***

Instead put your solutions for questions 1, 2, and 3in files g1.m, g2.m, and g3.m.

*** DO ONLY M NIMAL EDI TING OF THIS FILE ***

There is only one thing you may do inside this file: If you ran script g1 from the command window, and if it ran
correctly and if you no longer need to make changes, changetheline"%ql" into "ql", i.e. delete the % at the beginning
of theline.

Warning:** If you lose or add just asingle space or blank line in thisfile, it may fail to work correctly.
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format conpact
nore of f

Question 1

%6 Question 1
%
% Below is nmy solution to question 1 (except for any function files)

%initialize
format conpact

% print a header above the results:
di sp(' Start of results for question 1')

% set nunber of equations and unknowns
n=5

%initialize the matrix of the systemto zeros
A=zeros(n);
%in a for |oop, add the nonzero el ements in each equation
for i = 1:n
A(i,i)=-3;
if i==
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A(i, n)=1;
el se

A(i,i-1)=1;
end
if i==

A(i, 1) =1;
el se

A(i i +1) =1;
end

end

% right hand side vector
b=[1:n]";

% di splay the results
[A Db]

% check condition nunber
condA=cond( A)
rel Err Mat | ab=condA*eps(1)
if relErrMatlab > 0.1
% print an error nmessage
error('*** The matrix is singular to working precision')

el se
% sol ve the system
T=A\ b;
% show t he sol ution
TRow=T"

end

% run gl (renmove the next % when gl worKks)

gl
Start of results for question 1
n =
5
ans =
-3 1 0 0 1 1
1 -3 1 0 0 2
0 1 -3 1 0 3
0 0 1 -3 1 4
1 0 0 1 -3 5
condA =
4.6180
relErrMatl ab =
1. 0254e- 15
TRow =
-2.3636 -2.4545 -3.0000 -3.5455 -3.6364
Question 2
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%80 Question 2
%
% Below is nmy solution to question 2 (except for any function files)

%initialize
format conpact

% print a header above the results:
disp(' Start of results for question 2')

% pl ot the given function
ezpl ot (' x*exp(-x"2)',[-3 3])
grid on

% Find the partial fraction expansion of the ratio s/ (s"3+4s"2+s+4)
syns s
part Frac=partfrac(s/ (s"3+4*s"2+s+4))

% form Quartic

Syns x

Q@=x"N4-2* x"3+22* x- 9

% factor it
factoredQ@prod(factor(Q)

% find roots

r oot s@=sol ve( @=0, x)

% find derivative and antiderivative
diffQdiff(Q

intQ=int(Q

%integrate exactly fromO to 2
int02Q=int(Q 0, 2)

% run g2 (renmove the next % when g2 works)
g2

Start of results for question 2
part Frac =
((4*s)/17 + 1/17)/(s"2 + 1) - 4/ (17*(s + 4))
Q:
XN4 - 2*x"3 + 22*x - 9
factoredQ =
(x"2 + 2*x - 1)*(x"2 - 4*x + 9)
rootsQ =

- 2M(1/2) - 1

2 - 57 (1/2)*1i

2 + 57(1/2)*1i

27M(1/2) - 1

diffQ =
4*x"3 - B6*x"2 + 22
intQ =
X5/ 5 - xM4/2 + 11*x"2 - 9*x
i nt02Q =
122/ 5
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X exp[-xz:l

Question 3

%% Question 3
%
% Below is nmy solution to question 3 (except for any function files)

%initialize
format conpact

% print a header above the results:
di sp(' Start of results for question 3')

% define the data

VMeasured=[15 20 25 30 40 50 60 75 90 ]
LMeasured=[ 60 105 175 255 430 670 940 1600 2100]
VMeasur ed=VMeasur ed' ;

LMeasur ed=LMeasur ed' ;

%find Cand p

| nVMeasur ed=Il og( VMeasur ed) ;

| nLMeasur ed=l og( LMeasur ed) ;

coef s=pol yfit (Il nVMeasured, | nLMeasured, 1);
p=coefs(1)

C=exp(coefs(2))
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% find approxi mate val ues
LPower =C* VMeasur ed. *p;

% plot it

| ogl og( VMeasur ed, LMeasur ed, ' ok' , VMeasur ed, LPower, ' - k')
axi s([15 90 50 2500])

title(' Measured Lift versus Power Relationship')

x| abel (" V, nph")

ylabel (" Lift, Ibf");

| egend(’ Measured', ' Approxi mate','location','southeast')

% comment
di sp(' Seens reasonable to ne.")

% run g3 (renmove the next % when g3 works)
g3

Start of results for question 3
VMeasured =
15 20 25 30 40 50 60 75 90
LMeasured =
Colums 1 through 6

60 105 175 255 430
670
Col ums 7 through 9
940 1600 2100
p:
1.9953
C =
0. 2750

Seens reasonable to ne.
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Measured Lift versus Power Relationship
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End of Exam
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